Sonoma County Agricultural Crop Report



Dedicated to Sonoma County Harvest Fair in recognition of two decades celebrating Sonoma County's Plentiful Bounty

1996

TABLE OF CONTENTS

Letter to the Secretary / Board of Supervisors	44444	1
Sonoma County Harvest Fair	444444	2
Recapitulation	444444	3
Fruit and Nut Crop Summary Vegetable Crops		4 4
Ten Year Vegetable graph Nursery Products	aaaaa aaaaaa	5 5
Livestock, Poultry and Aquaculture Livestock and Poultry Products	44444	6 6
Field Crops Apiary Products	44444	7 7
Million Dollar Crops	444444	8
Apple Production Timber Harvest		9 9
Wine Grape Production ~ White	44444	10
Wine Grape Production ~ Red	444444	11
Fruit, Nut and Grapevine Acreage Inventories of Livestock and Poultry	44444	12 12
Commercial Fish Catch Horse Inventories	AAAAA AAAAAA	13 13
Agricultural Production Graph	444444	14
Sustainable Agriculture Report	AAAAA	15
National Agricultural Day Grand Prize Poem	444444	16
Agricultural Commissioner's Staff	444444	17

OFFICE OF THE AGRICULTURAL COMMISSIONER

CALIFORNIA

Ann Veneman, Secretary California Department of Food and Agriculture May, 1997

Sonoma County Board of Supervisors: Michael J. Cale, District 1 Paul L. Kelley, District 4 Jim Harberson, Chairman - District 2 Tim Smith, District 3 Mike Reilly, District 5

The Agricultural Crop Report is a yearly opportunity to celebrate the tremendous economic value that agriculture contributes to the well-being of Sonoma County. For the fourth year in a row, the value of the agricultural commodities produced in Sonoma County has increased. The 1996 production value of \$389.6 million, was approximately \$47 million higher than the 1995 total, with increases noted in most categories.

We are pleased to spotlight the Sonoma County Harvest Fair in this year's report. For over two decades, the Harvest Fair has showcased Sonoma County's agricultural abundance. Each Fall, the Harvest Fair celebrates our agricultural heritage and offers one of the best agricultural educational events in northern California and this year's report is dedicated to the Fair's contribution to agriculture.

The most dramatic change was a result of the continuing strength of wine grapes which were up \$16.7 million. The demand for premium wine grapes pushed the average price up \$237/ton, although total production was down nearly 12,000 tons. Additionally, apple production rebounded over 1995, with an increase in value of \$4.9 million. Apple production was up 15,000 tons, with an increase of approximately \$50/ton. Even though prune acreage continues to decline, the value of 1996 production was up more than \$600,000.

Livestock and poultry products were up \$18 million, with market milk accounting for \$12 million of the increase. Miscellaneous livestock and poultry products, which includes chicken eggs, increased in value almost \$5 million. Livestock, poultry, and aquaculture values increased \$2.9 million even though beef production was down \$1.5 million.

Grapevine nursery stock value was up \$2 million as the demand for grapevines continues to be fueled by increasing acreage and the ongoing replacement of vineyards infested with grape phylloxera. Vegetable acreage also increased which pushed production values up \$2.3 million. However, field crop production and apiary production both lost value in 1996. Production of oat hay and ensilage decreased 50,000 tons. Beekeepers continue to fight bee pest problems as honey production decreased 2,892 pounds.

The production values reported here are gross values and in no way reflect the profit or loss of each individual commodity group. We rely on our growers and ranchers to provide us information and I would like to acknowledge them for their cooperation. Special recognition goes to Bonnie Sallee, who does an excellent job of gathering and compiling the information for this report.

Sincerely Eric Lauritzen

Agricultural Commissioner

Our beautiful cover, furnished by the Sonoma County Harvest Fair, celebrates the bountiful harvest of our community. This watercolor, depicting a farmworker harvesting chardonnay grapes, commissioned by the Harvest Fair for its much anticipated poster, was painted by Santa Rosa artist Sally Cataldo.

Sonoma County Harvest Fair

Two Decades Celebrating Sonoma County's Plentiful Bounty

During the fall as the soil of Sonoma County provides its abundance, the annual Sonoma County Harvest Fair arrives to showcase just how plentiful life happens to be for those of us who call Sonoma County home. For three days during the harvest, Sonoma County wineries, produce growers, food purveyors, farm owners and artists revel in a spotlight that glows across Northern California. The focus, of course, is the good life - Sonoma County style.

Staged during the first weekend of October, the Sonoma County Harvest Fair has served as a showcase for what's best about our community - its people and its abundance. For 22 years, this event has attracted wine and food enthusiasts to share our bounty.

There's far more to the Harvest Fair than the aroma and taste of a gold-medal winning merlot. Just as important is the grape and its grower. The prestigious wine competition, like the fair itself, is strictly Sonoma County and celebrates the grape grower as well as the winemaker. The vineyard which produces the sweepstakes wine is recognized with the winery and its winemaker.

Sonoma County produce is on display throughout the fairgrounds. Fairgoers can see the largest apple display in California at the Harvest Fair. Members of Select Sonoma County combine their efforts for a tasty and colorful display of their products. Local families and commercial farmers are encouraged to compete for best One Family Farm and One Business Farm awards.



There's plenty of fun, games, and educational opportunities for both kids and adults at the Harvest Fair. A field trip to the opening day of the Harvest Fair is a highlight for more than 3,000 Sonoma County elementary students. The school tours include views of locally raised gamebirds, pygmy goats, pot-bellied pigs, llamas and dairy cattle, and a hay wagon ride in addition to a wide assortment of free entertainers, attractions and activities designed by youngsters. Adult fairgoers can browse local crafts and art in the Country Crafts Boutique and Harvest Fair Art Show, listen to jazz music on the Park Stage and participate in the Grape Stomp - America's messiest world championship - while tasting medal-winning wines and foods during an afternoon at the Harvest Fair.

The Sonoma County Harvest Fair, staged at the fairgrounds in Santa Rosa, will continue to focus its energy on all that's great about Sonoma County - our people, products and community.

Sonoma County Harvest Fair October 3-5, 1997

RECAPIT	U	LA	ΤI	O N
		1995		1996
APIARY	\$	97,400	\$	90,200
FIELD CROPS	\$	9,128,900	\$	7,633,700
FRUIT AND NUT CROPS	\$	164,714,900	\$	187,358,800
LIVESTOCK, POULTRY and AQUACULTURE	\$	37,287,300	\$	40,449,200
LIVESTOCK AND POULTRY PRODUCTS	\$	83,104,500	\$	101,441,800
NURSERY PRODUCTS	\$	30,995,600	\$	33,078,300
VEGETABLE CROPS	\$	17,221,600	\$	19,519,200
TOTAL	\$	342,550,200	\$	389,571,200



FRUIT	AN	D	NUT	ſ	С	ROP	SU	M	MARY
		PH	2		D	OLLA	R	V	ALUE
CROP	YEAR	BEARING ACRE	TOMACRE	IOTAL TONS		\$/ION			IOIAL
Apples (all)	1996 1995	4,407 5,298	11.2 3 6.45	49,500 34,268	\$ \$	210.00 160.22		\$	10 ,395,200 5,490,300
Processed (A)	1996 1995					5	1 1		
Fresh	1996 1995				1	\$	\$ 2,384,495 \$ 915,875		
Grapes (wine)	1996 1995	33,703 33,189	3.80 4.22	127,990 139,993	\$ \$	1, 371.76 1,134.53		\$ \$	1 75,572,20 0 158,824,800
Pears, Bartlett (B)	1996 1995	88 125	1.99 1.15	1 75 144	\$ \$	367.57 129.17		\$ \$	64, 30 0 18,600
Prunes (C)	1996 1995	503 715	1.45 0.04	729 26	\$ \$	896.43 1,046.15		\$ \$	653,50 0 27,200
Walnuts	1996 1995	258 317	0.26 0.21	67 65	\$ \$	1,415.68 1,122.43	,	\$ \$	94,300 72,800
Misc. (D)	1996 1995		•					\$ \$	5 79,3 00 281,200
IOIAL	1996 1995							\$ \$	187,358,800 164,714,900
(A) (B) (C) (D)	Includes Dry tons Includes	fresh and p	sh-berries,	kiwi, black		лs, plums, As	İan dears,		

V	E	G	E	T	А	В	L	E			С	R	0	Р	S
CROP)				YEAR					HARVESTED ACREAGE				doli Val	
Misce farms		5 Iruck			1996 1995			*		1,289 1,111			\$ \$	19,519, 17,221,	
			(E) In	cludes	melons,	MUSHRO	DOMS,	POTATOE	5, pt	mpkins, spro	DUTS, S	quash, 1	IOMATOES	, Ιεπυς	ES, ETC.



N U R	S E	R	Y	Р	R	0	D	U C	T S
						D	OLLA	R	VALUE
ITEM	YEAR		UNII SOLD	UNIT			\$/UNIT		IOIAL
Grapevines (all)	1996		8,462,828	plant/cutting	(A)			\$	14,248,000
	1995		6,065,626	plant/cutting				\$	12,807,600
Ornamentals	1996		1,174,167	plant	(B)		\$ 5.34	\$	6,274,100
	1995		1,255,024	plant			\$ 4.92	\$	6,173,600
Bedding Plants	1996		263,561	flat			\$ 10.78	\$	2,840,000
	1995		202,297	flat		98. 	\$ 9.80		1,982,600
Cut Flowers	1996							\$	2,352,300
	1995							\$	2,461,900
Christmas Trees	1996		15,234	each			\$ 25.89) \$	394,400
	1995		18,344	each	*****		\$ 25.41		466,100
Misc. Products (C)	1996							\$	6,969,500
	1995							\$	7,103,800
IOIAL	1996							\$	33,078,300
	1995							\$	30,995,600
(A)	Includes	GREEN,	dormant root	ings and benc	h gral	frs.			
(B)				l type trade co					
(C)	Includes	deciduo	ous fruit and r	NUT TREES, bulb	s, fore	est seed	lings, hou	se plants,	

liners, orchids, cacti, herbaceous perennials, dry flowers, turf and wreaths.

LIVESTOCK,		POULTRY	A	Ind	A	QUA	CU	LTURE
		NUMBER	IOIAL		D	OLLA	R	VALUE
1753.4	MEAD	OF	LIVE	1.5.17		A 11 15 11 T		IOT M
ITEM	YEAR	HEAD	WEIGHT	UNIT	_	\$/UNIT	Auran and Aura and	IOIAL
Cattle/Calves	1996	48,938	281,965	CWI	\$	46.00	\$	12,970,800
	1995	49,836	286,741	CWI	\$	50.36	\$	14,439,800
SHEED/LAMDS	1996	13,591	14,678	CWI	\$	77.96	\$	1,144,300
	1995	13,391	14,462	CWI	\$	69.96	\$	1,012,000
Hogs	1996	2,610	6,235	CWI	\$	47.78	\$	297,900
	1995	6,100	14,486	CWI	\$	36.98	\$	535,700
Turkeys	1996	turkeys are now inc	luded in 1	He miscellaned	OUS TOT	ral		
	1995		2,260,741	ΙЬ.	\$	0.53	\$	1,208,900
Miscellaneous (A)	1996						\$	26,036,200
	1995						\$	20,090,900
IOIAL	1996						\$	40,449,200
	1995						\$	37,287,300
(A) I	NCLUDES	chicks, ducks, turkey	poults, f	RYERS, ROASTER	s, shel	lfish, turk	EYS, ETC	•

LIVESTOCK	A	and PC	DULTRY		PRC	DD	JCTS
				D	OLLA	R	VALUE
ITEM	YEAR	PRODUCTION	UNIT		\$/UNIT		IOIAL
Milk (Market)	1996 1995	5,849,219 (B) 5,869,023	CWI CWI	\$ \$	14.34 12.25	\$ \$	83,877,800 71,895,500
Milk (Manufacturing)	1996 1995	167,060 72,210	CWI CWI	\$ \$	13.09 11.77	\$ \$	2,186,800 849,900
Wool	1996 1995	134,592 (C) 116,490	լե. լե.	\$ \$	0.77 0.70	\$ \$	104 ,300 81,100
Misc. Products (D)	1996 1995					\$ \$	15,272,900 10,278,000
IOTAL (B) (C)	1996 1995 Preliminary Includes pi	Remium and regular wo	ol			\$ \$	101,441,800 83,104,500
(D)	Includes M	arket duck eggs, turkey ducts and goat milk.		iicken i	eating ego	λS	

	F	IEL	D	CF	8 0	P	S		
		HARVESTED	ION/	IOIAL		DO	DLLAR		VALUE
CROP	YEAR	ACREAGE	ACRE	IONS	UNIT	\$	/UNIT		IOIAL
Нау, Оат	1996 1995	9,799 10,006	2.04 2.25	20,015 22,539	TON TON	\$ \$	71.56 78.09	\$ \$	1 ,432,200 1,760,000
Hay, Volunteer	1996 1995	1,047 2,281	1.47 1.86	1,538 4,234	TON TON	\$	60.49 51.06	\$	93,000 216,200
Green Chop (A)	1996 1995	706 440	10.10 10.92	7,129 4,806	TON TON	\$ \$	16.65 13.34	\$ \$	118,700 64,100
Oats, Grain	1996 1995	1118 630	0 .79 0.84	887 532	TON TON	\$ \$	237.12 209.59	\$ \$	210,400 111,500
Ensilage, Corn (A)	1996 1995	230 453	21.83 19.12	5,020 8,663	TON TON	\$ \$	44.00 38.70	\$ \$	220,900 335,300
Oats, Silage (A)	1996 1995	4 ,795 4,921	9.91 19.40	47,498 95,470	TON TON	\$ \$	39.00 33.70	\$ \$	1,852,400 3,217,300
Hops (B)	1996			102	LBS	\$	5.00	\$	500
Siraw	1996 1995			858 272	TON TON	\$ \$	67.39 36.76	\$ \$	57,800 10,000
Pasture, Irrigated	1996 1995	9,500 9,550			ACRE ACRE	\$ \$	100.00 100.00	\$ \$	950,000 955,000
Grassland	1996 1995	206,450 206,500			ACRE ACRE	\$ \$	10.00 10.00	\$ \$	2,064,500 2,065,000
Woodland	1996 1995	172,800 173,000			ACRE ACRE	\$ \$	1.00 1.00	\$ \$	172,800 173,000
Miscellaneous (C)	1996 1995							\$ \$	461,000 221,500
IOIAL	1996 1995							\$ \$	7,633,70 0 9,128,900
(A)		THE GREEN CHOP d by its feed equ							value is
(B) (C)		udes 6 varieties (N alfalfa, barley, saff					de, Norther	RN BRE	ewer, Galena)

Includes	alfalfa,	barley,	SAFFLOWER,	WHEAT,	RYE,	VETCH,	SUC

A P	ΙA	R Y	PRO	D	U C	T	S
ITEM	YEAR	PRODUCTION	UNII		DOLLA \$/UNII	AR V	ALUE IOTAL
Honey	1996	49,194	lb.	\$	0.83	\$	40,900
*******	1995	52,086	lb.	\$	1.02	\$	52,900
WAX	1996	710	lb.	\$	8.87	\$	6,300
	1995	1,325	lb.	\$	1.58	\$	2,100
Pollination	1996					\$	43,000
	1995					\$	42,400
IOIAL	1996					\$	90,200
	1995					\$	90,200 97,400

MILLION DOLLAR	R	CROPS
1. WINE GRAPES	\$	175,572,200
2. MARKET MILK	\$	83,877,800
3. MISC. LIVESTOCK, POULTRY and AQUACULTURE	\$	26,036,200
4. VEGETABLES	\$	19,519,200
5. MISC. LIVESTOCK AND POULTRY PRODUCTS	\$	15,272,900
6. GRAPEVINES	\$	14,248,000
7. CATTLE AND CALVES	\$	12,970,800
8. APPLES ~ LATE VARIETIES	\$	8,082,700
9. MISC. NURSERY PRODUCTS	\$	6,969,500
10. NURSERY ~ ORNAMENTALS	\$	6,274,100
11. NURSERY ~ BEDDING PLANTS	\$	2,840,000
12. NURSERY ~ CUT FLOWERS	\$	2,352,300
13. APPLES ~ GRAVENSTEINS	\$	2,312,500
14. MANUFACTURING MILK	\$	2,186,800
15. OAT SILAGE	\$	1,852,400
16. OAT HAY	\$	1,432,200
17. SHEEP AND LAMBS	\$	1,144,300

	-			and the second second	10.00					
A P P	L	E	Р	R O		D U	(C T]	O N
		BEARING ACRES	~	5	D	OLLA	A F	2	V.	ALUE
		RING	TONSIACRE	TOTAL TONS						
CROP	YEAR	BEAS	1014	1011		/ ION				IOIAL
Gravenstein	1996	1,364	8.15	11,113	\$	208.09		\$		2,312,500
	1995	1,686	4.34	7,319	\$	162.67		\$		1,190,600
Fresh	1996	and the second second second		899	\$	580.03	\$	521,444	1	
	1995	т.		534	\$	521.27	\$	278,360		
Processed	1996			10,214	\$	175.35	\$	1,791,022		
(A)	1995			6,785	\$	138.03	\$	912,278	1	
Late Apples	1996	3,043	12.61	38,387	\$	210.56		\$		8,082,700
	1995	3,612	7.46	26,949	\$	159.55		\$,	4,299,700
Fresh	1996	a and the second se	and the second second	1,777	\$	1,048.46	\$	1,863,051	1	
_	1995			1,215	\$	524.70	\$	637,515		
Processed	1996			36,610	\$	169.89	\$	6,219,636		
(A)	1995			25,734	\$	149.55	\$	3,662,191		
IOIAL	1996	4,407	11.23	49,500	\$	210.00	Carl and	\$		10,395,200
	1995	5,298	6.47	34,268	\$	160.22		\$	5	5,490,300
	(A)	includes canned,	juice, vinegar,	cider and di	Ried		_			





the second se				V	E		-
		(Informational O	Nly)				
						DOLLAR	
CROP	YEAR	PRODUCTION	UNIT (b)	and the second second	And Address	VALUE	(0
Timber	1996	32,698,000	board feet		\$	14,060,000	
	1995	26,330,000	board feet		\$	11,608,800	

INE	GRAPE PRODUCTION ~					~ WH			
		A C	R E	S	P R	0	D U C	T	I O N
			NON-		IONS		DOLLAR/		IOIA
VARIETY	YEAR	BEARING	BEARING	IOIAL			PER ION		VALU
Chardonnay	1996 1995	12,597 11,678	1,235 934	13,832 12,612	47,458 50,171	\$ \$	1,455.61 1,207.74		69,080,300 60,593,300
CHENIN BLANC	1996 1995	251 304	0 0	251 304	1,04 3 1,083	\$	575.96 499.26		600,400 540,900
French Colombard	1996 1995	383 488	0 0	383 488	2,129 2,564	\$ \$	480.20 418.07		1,022,100 1,070,800
Gewurztraminer	1996 1995	321 359	7	328 364	1,333 1,007	\$ \$	915.70 728.60	100	1,220,700 733,500
Muscat Blanc	1996 1995	41 44	0 0	41 44	114	\$	1,143.07 969.01	\$	130,000 169,700
Pinot Blanc	1996 1995	80 120	5 0	85 120	410 446	\$	1,018.04 929.68	\$	4 17,50 0 414,600
Sauvignon Blanc	1996 1995	1,417 1,426	153 122	1,570 1,548	5,411 7,269	\$	933.20 810.42	\$	5,049,50 0 5,890,500
Semillion	1996 1995	157 165	36 24	193 189	655 760	\$	906.88 777.63		594,200 590,600
Viognier	1996 1995	36 26	42 21	78 47	164 162	\$\$	1 ,341.81 1,358.01	\$ \$	219,900 220,500
White Riesling	1996 1995	172 187	6 3	178 190	534 559	\$ \$	824.88 638.23		440,100 356,500
Other Whites	1996 1995	181 197	30 10	215 207	692 556	\$	654.91 505.49		4 53,2 00 280,800
TOTAL WHITES	1996	15,636	1,514	17,150	59,942	\$	1,321.75	\$	79,227,900
	1995	14,994	1,119	16,113	64,752	\$	1,094.36	\$	70,861,700

WINE GRAPES - A TEN YEAR COMPARISON



WINE

GRAPE PRODUCTION

RED

		A C	R	E S	P R C)	D U C	I	I O N
			NON-		TONS		DOLLAR/		IOIA
VARIETY	YEAR	BEARING	BEARING	IOIAL		\$	PER ION		VALUE
Cabernet Franc	. 1996 1995	474 506	26 26	500 532	1,861 2,091	\$	1,482.49 1,243.80	\$ \$	2 ,758,50 0 2,600,800
Cabernet Sauvignon	1996 1995	6,289 6,425	803 456	7,092 6,881	 19,619 24,608	\$ \$	1,496.28 1,261.12	\$ \$	29,355,100 31,033,000
Carignane	1996 1995	285 294	9 0	294 294	 711 711	\$ \$	898.40 780.00	\$ \$	638,700 554,700
Merlot	1996 1995	3,290 2,834	1,446 916	4, 73 6 3,750	 14, 30 8 12,709	\$ \$	1,660.13 1,476.11	\$ \$	2 3,752,60 0 18,760,300
Meunier	1996 1995	65 111	8 10	73 121	 392 388	\$	1,043.65 825.40	\$ \$	409,500 320,600
Gamay	1996 1995	186 207	6 16	192 223	 451 761	\$ \$	849.83 686.49	\$ \$	383,600 522,100
Petite Sirah	1996 1995	261 275	33 19	294 294	 485 634	\$ \$	1,2 75.56 1,080.49	\$ \$	619,200 684,800
Petite Verdot	1996 1995	63 48	3 0 31	93 79	 158 195	\$ \$	1,500.21 1,273.15	\$ \$	237,50 0 248,700
Pinot Noir	1996 1995	2,701 2,978	327 124	3,028 3,102	 13,567 12,459	\$ \$	1 ,312.16 994.06	\$ \$	17,801,900 12,385,100
Sangiovese	1996 1995	85 48	107 80	192 128	 57 4 470	\$	1,422.91 1,216.51	\$ \$	817,200 571,400
Syrah-shiraz	1996 1995	159 134	61 48	220 182	 658 567	\$	1, 302.86 1,207.50	\$ \$	856,60 0 684,900
Zinfandel	1996 1995	3,836 3,908	242 238	4,078 4,146	 14,134 18,582	\$ \$	1,221.45 1,000.50	\$ \$	1 7,263,50 0 18,591,000
Other Reds	1996 1995	373 427	93 58	457 485	1,130 1,068	\$ \$	1,283.31 941.75	\$ \$	1,450,400 1,005,700
ioial reds	1996 1995	18,067 18,195	3,182 2,031	21,249 20,217	68,048 75,243	\$ \$	1,415.83 1,169.05	\$ \$	96,344,30 0 87,963,100
TOTAL ALL WINE GRAPES	1996 1995	33,703 33,189	4,696 3,141	38,399 36,330	127,990 139,993	\$ \$	1 ,371.76 1,134.52	\$ \$	1 75,572,20 0 158,824,800







FRUIT, NUT	and	GRAPEVINE	ACREAGE
CROP	BEARING	NON-BEARING	IOIAL
Apples	4,407	88	4,495
CHERRIES	3	0	3
Figs	0	4	4
Wine Grapes	33,703	4,696	38,399
Kiwi	28	0	28
Peaches	7	1	8
Pears	88	0	88
Plums	9	0	9
Prunes	503	16	519
Walnuts	258	3	261
Miscellaneous	37	7	44
TOTAL ACREAGE	39,043	4,808	43,858

INVENTORIES	OF LIVESTOCK	AND	POULIRY
ITEM	(Number of Head as of Janua	ry 1, 1997)	NUMBER
Cattle and Ca	lves, all		100,652
	Milk cows and Heifers 2 years and over Beef cows and Heifers 2 years and over	37,468 25,000	
Sheep and Lan	1bs, all		16,200
Hogs			2,900
Laying Hens a	nd Pullets		892,167
Turkey Breede	RS		28,816

COMMERCIAL	FISH CATCH	~	199
	(Information Only)		
SPECIES	POUNDS		VALUE
Crab, Dungeness	911,649	\$	1,585,920
Salmon, Chinook	760,980	\$	1,362,830
Urchin, Red	760,397	\$	605,980
Sole, Dover	1,567,590	\$	492,164
Thornyheads	433,834	\$	435,633
Swordfish	70,995	\$	276,033
Sablefish	220,221	\$	249,924
Rockfish, Widow	501,223	\$	175,877
Rockfish, unspecified	297,598	\$	130,512
Rockfish, Chilipepper	143,059	\$	71,780
Rockfish, China	26,516	\$	56,645
Sole, Rex	132,935	\$	52,745
Sole, Petrale	50,795	\$	47,034
Rockfish, Bocaccio	117,169	\$	46,227
Sole, English	107,210	\$	40,740
Lingcod	64,740	\$	35,250
Rockfish, copper	12,111	\$	25,706
Rockfish, Group Gopher	9,968	\$	21,989
Crab, rock unspecified	13,507	\$	19,153
Sanddab	57,005	\$	18,265
Iuna, Albacore	22,187	\$	17,212
Other	225,651	\$	147,961
IOIAL	6,507,340	\$	5,915,580

The ligures are provided by the California Department of Fish and Game. The 1996 ligures will not be available until later in the year.

	HORSES	
	(Informational Only)	
		IOIAL
BACK YARD	BOARDED	VALUE
10,991	4,049	\$1,200,000

SONOMA COUNTY TOTAL CROP VALUE 1987 ~ 1996

1000



SONOMA COUNTY 1996 SUSTAINABLE AGRICULTURE REPORT

By Priscilla Lane

BIOLOGICAL CONTROL PROGRAM

BIOLOGICAL CONTROL	# OF RELEASE SITES
Yellow Starthistle Seedhead Weevil (<i>Bangasternus orientalis)</i>	2
Yellow Starthistle Hairy Weevil <i>(Eustenopus villosus)</i>	8

ORGANIC FARMING STATISTICS

COMMODITY	# OF PRODUCERS	COMMODITY	# OF PRODUCERS
Eggs	6	Fruits and Nuts	397
Vegetables	105	Wine Grapes	15
Milk	2		

PEST DETECTION

TRAPPING: 11,207 trap servicings for exotic insect pests. (Includes Mediterranean and Oriental Fruit Fly, Melon Fly, Gypsy Moth, Japanese Beetle, Khapra Beetle and Western Grapeleaf Skeletonizer)

ENTRYWAY SURVEY: 1037 miles and 284 properties were surveyed for the presence of noxious weed and disease pests.

WEED SURVEY

PEST	GROSS ACRES TREATED	PEST	gross acres treated
Artichoke Thistle	250	Distaff Thistle	5
Iberian Starthistle	750	Purple Starthistle	500

PEST EXCLUSION

A total of 1,725 premise inspections for incoming shipments of plant material were made by the Sonoma County Agricultural Commissioner's Office. Inspections occurred at the express carriers, nurseries, post office, rail road, pet stores, ethnic markets, post entry inspections and United Parcel Service. 242 rejections of plant material were made. Rejected plant material was either destroyed or reconditioned and released. Listed below are a few of the economically important pest species intercepted in 1996:

Canada Thistle	False Power Post Beetle	Green Shield Scale	Kikuyu Grass
<u>Cirsium arvense</u>	<i>Sinoxylon conigerum</i>	<u>Pulvinaria psidii</u>	<u>Pennisetum clandestinum</u>
Maqnolia White Scale	Purple Starthistle	Quack Grass	Snail
<i>Homoptera diaspididae</i>	<i>Centaurea calcitrapa</i>	Elytrigia repens	Zachrysia provisoria

15

NATIONAL AGRICULTURAL DAY GRAND PRIZE ESSAY / POEM

-

AGRICULTURE IS . . . By: Nikki Hamzaeff

Agriculture is, The things that seem to be, What farmers grow on farms, Like corn, grapes, and trees

Many farms have cows, Which people kill for meat, Or they may use the milk, For ice cream, cream, or cheese.

hey also raise chickens, For their brown and white eggs, So people can enjoy them, Or eat those yummy legs.

There are also many vineyards, Which people use for wine, For when you go to dinner, You can eat, drink, or dine.

Farmers also grow grain, Or sometimes fields of rice, Which people like to eat, With butter and spice.

There is also stalks of corn, Which people like to pop, Eat them fresh or frozen, It's such a healthy crop.

Farmers also enjoy planting vegetables, Like carrots and red beets, But when you plant them be careful, That they don't get too much sunshine heat.

Do if you enjoy eating vegetables, Or maybe pounds of meat, Just remember it's good for you, So enjoy that extra treat."

This winning poem, from the Agricultural Day essay/poem contest, sponsored by the Northbay Chapter of California Women for Agriculture, Sonoma County Farm Bureau and the Press Democrat is reprinted with the permission of Nicole Hamzaeff and her parents. Nicole is a 5th grade student at El Verano School in the Sonoma Valley. Her award winning poem is titled: AGRICULTURE IS . . .

<u> 1997 Sтаff</u>

ERIC LAURITZEN Agricultural Commissioner

JOHN WESTODY Assistant Agricultural Commissioner

JIM SALLEE Deputy Agricultural Commissioner II

LISA CORREIA ~ MIKE SMITH DEPUTY AGRICULTURAL COMMISSIONER I

Pierre Gadd ~ Priscilla Lane ~ Stefan Parnay Alexis Ramey ~ Marilyn Vernon Agricultural Biologist/Inspector III

Gary Bjork ~ Joseph Gray ~ Bruce McArthur Agricultural Biologist/Inspector II

> Michael Milligan ~ Bonnie Sallee Senior Agricultural Program Assistant

> > James O'Brien County Trapper

Esther Martinez ~ Tracy MulviHill ~ Jeann Nelson Administrative Support Staff